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3x996 996+996+996 2940 1s:1s:1s 0 
4x996 996+996+996+996 3920 1s:1s:1s:1s 0 

 

In the Table 34-t1 
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Then, each block further performs the proportial round robsin segment parser as shown in Equation (34-

x2).   
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where 

) = 0,1, … , (0()*++,# − N# ∗ 44 ∗ 0)*+(+,# − 1) 

$3				is	bit	B	of	a	block	P0()*++,#

,-.

#/0
	bits	and	B = 0,1, … ,P0()*++,#
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B# 					is	the	proportinal	ration	defined	in	Table	34-t1 

7								is	the	frequency	subblock	index, 7 = 0,1,2, …,	L 

S      is the number of frequency subblock.  L=2 for (484+996), ((242+484) +996), 2x996 tone 

MRU; L=3 for (484+2x996) and (3x996) tone MRU; L=4 for (484+3x996) and (4x996) tone 

MRU 

!!,# 			is	bit	)	of	frequency	subblock	(or	RU	in	80MHz	segment)	7	 

N# 					N# = 1	for	subblock	7	with	nonzero	leftover	bits, N# = 0	otherwise 
 

 

For the MRU with the number of the leftover bits in Table 34-t1 is not equal to 0, then proportial round 

robin parser will continue processing the leftover bits as Equation (34-x3): 
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          (Equation 34-x3) 

 


